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Section A (30.x 2 marks)

For each question from 1 to 30, fouropﬁons%reguven One of them is'the comrect
answer. -Make your choice (1, 2, 3 or 4). Shade,the -correct oval-(1, 2, 3 or 4) on
the Opfical Answer Sheet. ' - . .

1. “Look at the diagram below.

Water Vapour a8

o8&
- — .
B -—-\_——. R .
X =TT

Process X and Y are two proweses that take place in the water cycle_ Which
of the following describe. water going through the @,meup"i j; gsses as: x and Y
in the. dlagram above" )

A: Leavmg a prece ofi wt_a on‘the'table

~C: Aﬂd“ agﬂﬁatér mtcza@éisﬁmk RN ‘
D: Speetades tummg foggy when: allghtumg{tqsn an, agr-&oﬂdlﬁaned bus, -

| ProcassX o ProwssY
(D A ' B:
(2) A .C

{(3) B C .

- (4) B D

o thch@neef#!efo!bvwng fists ooassts:ofmﬂwihe':: = -_';, AW
© . (4) Ovary, Owle, Gvim | ' =

* (2) Stigria, Sk Petal

(3) Antfier, Sigria; f“e‘a‘
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Cold Water

(1)

lost heat .

gaitied heat
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Which part of the flower will eventually tuiniinto: a-fruit afterfegtiisation?.
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Whlch one of the . foliomng,p]ants feprpdu@@ from sz‘z orm’? _
(1) Lantana

() Jows: Ears

(3) Balsany piap -

“) Hibiseys prap; -

(3).250 cmd

“4) 310 emy®



7. . The diagram below shéWs Row: lmng thmgs exchange: gases w:th the
envaronment .

--------- T [ e \
~ _ dioxide |

— Process A
T P!‘Dcess B

Which one of thie following. statemenﬁ lst&_*jkcorrect’?
(1) Organism X could be algae. o

(2) Process A takes place all the fime. .

(3) Process B takes place allthe time:

(4) Water is negded for Process Bito-take place.



Tyler observed: three- dxfferentiyp% of.cells undera, mtero,scoge Gells:A and
B are fromi.the samé’ orgamsm whnle Cell C 1s from another o(gamsm

Which ofmefanewmgstatements are te?
A:  OnlyCeliB is a plant csll

B: Only. Celk: C ls an ammaf oell

C: CellsAand B are plantoells

D: Cells A and-(_;lalr_e ammal-pel_ls-.

| (1) A and B only
(2) Band G only
(3) A and'D only
(4) A,B.and C only



The diagram befow shows two animafi:célls‘_-,--ﬂ-and B, before an-experiment.

Keegan plaeed e {waanmaleglls -A-"éhd"—& ina 'confa’iéef-‘éf:mter
containingthe: samebamountﬂf dis So ﬁ*eﬁ subswnc&s X and'Y. in'it as shown
below.

He then made ’thé féltevang_observauons. Whteh one of the fallowlﬂg

(1) Water can enter?aoth celis A aqd B .
{2)-Substance: X-and Y are unable to 4 eriter 9eﬂ B. .

" (3) Cell- A-does: not allow substances o enter24si
' (4) Substance X enters cell A moreeaswascomnaafeﬂ to vasfme Y.




- 10. -

The dlagram below shows av’@légt‘ée{] sgen under A m:@r_"_' pe. Parts of the
cellare!abdledAB C, D, Eanch S

lees the plant its
dlaractenstia;

Contols the

Lo R ¢

i ,_movement of-
' ";substances in

'and out. otthe

" feell

Also foundin |
an ammaloell

a |
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11.

Based:-on the experiment, what does Part Y transport?
A Feod
B: Water

C: . Oxygen

1) Bonly
(2 AdndBonly

(3).B:and-C only

(4) AB3nd C

. Y (stained red)



1. atominium foit

Which pért(s) 6 the feaf would tie odiné solitién remiin browrt?

(1) Part-t-only.

@Patzony
(@) Parts 1 and 3 50l

(4 Paits 1, 2 2iid'3

L ring OfHErcARVIng ik Ena food-
nying:tubes semgyed: The plant was watered daily. Leaf G was partially
covered with alutiimigi foil an both of its sides.



14.

Whatt can yoia eohclodé from ihis setup?

A: Magneétic force is very wg_aak

B: _I\_déi_gi.ieti_c"for_oe.'zic!__‘s;frbm:;_a_-.digtéhce..

C: Magnefic force can bés&t}i(éugﬁ:-élés}s;'
D

T M'_agheticforoe' can be a':puil_ ora pu'si;- i}

(1) A and B only

(2)BandC only:

(3).C and D only
' (4) A and D'only |

ar



13. Diagram 1 belew shows what happel: RsaHenith SéXfaces .
Disc Y and:Diagram 2 shows the: sewnd“ side of Dtsc Xfé _ ﬁ@éthe same side -
of Disc Y.

Biagram 2

Based on the above diagrams, what could we conclude abayt Discs X,Y and
z? ' ' '

A:  Disc X is a magneb
B:  DiscY isamagnet.
C:  DiscY is magriefie.

D:  Disc Z is magnelic.

(1) A and B only

(2) C and D only |
(3)AB and D only
(4)B,C and D only

30



15. The dsagxam below shows two beakess X and: Y ﬁl}eq mﬂzﬁrﬂ‘erent arhounits.
of water. The water inboth héaf‘«ers was heated upto' 88’ C

Which of the follo\mng statements are ﬁ‘zﬁe;rabout the two beakers of water?
A Thewatsr in Both beakérs Has s same tempe(amre |

B:  Thewater in bothbeakers has séme amount of heat energy.-

C:  Thewaterin beaker Y has more heat enelgy ﬂTan beaker X.

D: Thewater in beaker Y. wou(d evapmate faster than the water in. beakep

(1) A:and C-only

(2) Cand D oniv

(3) A, C and D only
{49 A.BandD anly



16.

Lynn prepared the set-ups as shown below.

© Setup X _ SetupY

When she pours: water into. the funnels of both set-ups, it readily flows into the
flask: fothet-up ¥ butestﬂps aﬁeraa few draps for: Set-up X.

Which one of; meJelleMng mgsl\ ISIC gs‘@a b&dmwn from the abservations in
the above set-ups'?'

() on it can i N
(2) Air and water o y
®) Watér and aﬂr da not have a deﬁmte Shape

(4) Only air deas_: ;_ao_t— havea d.eﬁmt_e shape or volume,



17.. The diagram below shows a top view of an underground tunnel.

18.  400cm’ of airis. ttapped ina beaker gs shown in Figure A_The beaker is then
pushed deeper igto the water as showm in- F“lgure B.

2 cnd of i

A4



Look at the diagram below carefully.

S T A IR NN

Atitich parts of the digestive ystein areiligsive juices

(1)A,BandC
(2A,C and D.
(3)B,Dand E. -
@) CDAHE |

£



flewer 1 -fruit

seeding | . | fuit [ | flower seediing

21.  The diagram below Shows thedife ciidle of a g

(5275 .

‘Grasshopper Nyinph'

- Egg

il o~ BNTIIA FOREST Y -




Which of the. 'fellowmg parts ofthe: plants are: Similarto.th
human body?

(1) Haiir on thé reots

_ (2) Stomata on the {eaves -

3) Chlorophyll in 1ﬁe Eaves

(4) Water-cairying: -and Food—carrymg tubes in the stem

The diagram below shows a classlﬁcatxen table of how some objects-are
cla&suﬁed accordi ing to the materials theydre made of.




24,

- (Al

25, 'Ldbk at the dnimials SHOWH below,

In.what ways are'thé-animals shownabove similar?

(1) ity ﬂy
Q@diveorifand - -
{(3)breathe with thgir g(ﬂs |
“y reproduce by laymg £9gs . K



dqﬂm{' W“*”"a" O”P Fhe Same -lk:ck:nu’g
hade of Uitisrertmaisns

POUM"‘E’EM%m@a‘ﬁ@of s

(1) Plastic

(2) Paree]am
(3) Stwofoam

(4) Num;mum.

19 :
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27, iichore & the Tolloiwing-diagramsSh

water entersithiefish? " R

3)

“ .




28. Thédiagraim’below:shows'some ofithe openings. found:on the underside. of a

Andre‘wmade the following statements about their functions.

A:  They'take in oxygen during respiration.

B Water vapour ig]qét:tlxroughth&e-ope‘rg_i:qgg

C: ‘Fhey take m light energy-fram the Suntmnakeffdunng the day.
B: Carbon dioxide is given out throughthese Qpé,nfn'gs durmg respiration.

\Mncheﬂheabove statements are actually eorrect7 |
(Y B a0 oply B o
@ Agand Conly..

(3) AjB and Donly

(4) Allof the sbove

P



29.  The pollen.grains of a flower will not develqp}%gggl_lenjmhéf3QQﬁE:ﬁ§§§ reach
part "

Hw
X
@Y
@z

30. Thediagrantbelow.shows the water cyole with pracesses X,Y and Zinvelved:

1 Cinieaic -

Clauds




'&ame: T ; ( )

Class: P5
Section B: 25 mirks
Read the questions careftily and write down your answer in the spaces provided.

'31.  The flow chart belgw identifies some cells, W, X, Y and Z.

CellsW, X, YandZ

Does it have a nucleus? WW

e

Does it have. a-cait wall‘? 1 No
Yes i

Dees jthave chleroptasts’) |

-z

Based-on the mfonnanon abcve answer the iollmnng queshons
- (&) Identify the foltowmg eel!s ﬁ _ [11
@  Aceliwhichcannot reprodube: __
i) Acellwhichis able o caimyGut phatbs

|

(b) Explain whiy:the cell mentionsd ifr (4){i) is most likely abletocany out -
dlosyathesis? | e




{(c) Wh(eh ofihese oells X, Y and/or Z, is/aregnimal celt(s)? (11
Give a reason for your answer.

32.  Mrs Wong wanted fo make some 1:"f"-f' A w:thout the use" :33‘5
used the set-up as shown ini thie: i agcam belowto make ice-cream.

m-wbasaﬂd
Asakm'n’dim

plasﬁc covering.

(@) Explam whyimlt was’ ad ioxhe ice:ciibes in order to.make ice-

cream without thé use:of.a. freezer. ' {11
(b)Whyistheinnercan made of stestand notplasticz. 1]
.- .- 3 B




The diagram below shows a més?éédional view of a flower;

Explain the functions of the parts fabeliedin the table below. 21

Parts - Fun@ nctions




34. Ethan setup an expeﬂment as sheWn below: to findout rﬂhe Tate of

breathing would be. aﬁ‘a@a@mﬁé}a&bmmsxer SKersised:

exercise wheel

framster -

A \ - L
-enclosed tank

Blagam A

(a) His teacher told hlm that he wou(d need fo have a control for his
eéxperiment: Inthe space. provided below, draw what the control would
fook like. Please: label the draviing. {1}

(b)By obseiving thefimiewaiar closs
- order todrawa&ncfusnm




35. The-diagram below shows a plant.

\ver—s : 'j ‘_‘_Ye@_f;l_t_awever the pammaﬂced'ﬁ’ eontmued to ﬁf‘ » bxggér‘ and
bigger. Why istis so? ) 1

-




36. Look at the diagram below.

(a) Label Parts A and B in the boxes‘gbove. [1]

(b) Name the part of the body where water is-removed-from the undigested
food. _ ]




37.

Yes

Does the female-
lay eggs?

Does the young
resemble the
adult?

7

N

No

isitan
omnivore?

A

8:

s wmmwm-\!‘“

| Eaviecvemoyan. 1w

(a) Putth
absove.

{b) Name an organism iha‘tfié..aﬁétﬁfi@IM:lays;éggs.

e following. animals: lizaid, zebra, man and mosqiito in the boxes

(1

(1l




Aﬂan deelded to mrry eut an: expenment to fi nd out: whzch matenal is. iaetter fer

_beﬂ; a metal equand‘ a-sty ‘,-‘aup of the same -size. and shape He
measured the {emperatis af ﬂ\é ‘sitersof bath eups at 2 minute intervals.

The resuilts of the: e)qiénment are shewn in the diagram-below,

Temp (0° C)

Styrofoam cup

Metal cup

45

L =
g

{——» Time (min)

What can he conclude from thie resuilts of the experirent? [1}




39. Study-the diagram below.

-

clouds

(a) Name the two processes that take place in the diagram above. {11

(b) Explain how rain douds:are formed. (1]




P O - -

40. Look at the two set-ups below.

. //W/

(@) What do- yous think could.be the aim of the abave experiment?

(b) What is the purpose of having a'layer of oil above the water?

41. Study ﬂae statements tnrefully andput a. tlck in the appmpnate box.

TSt

Tm

' -'_' Fatse

-'Not
, -Pq_ssxblt__a '

(1]

(]

{11




42. After wﬁshmg 2 5inilar handkerchiefs ‘Mrs Chen: huﬁg them:on.a-clothes fine .
in her gﬁrf!en‘fo dry:as’ ‘showii below: -

(a) Which one of the above handkerchiefs took the longest time to dry? (1}

(b)-Explain your answer-in (3). ' | | -[ﬂ




43.  Sally counted'the fiumber-ofwild:plaats;: Aand:B; on:a.piece off . Afle Z
' few menths, she looked atthe samespiece of: Jand-sgain. Her.ob "_;j: s are
shown below.

(a) State the méthod.of dispersal forplants A and B. (1

(A

B




44.  The following pictures show.the longltudmal sectlon of two ﬂewers Aand B,
w:th all their ovules exposed

Flower A Flower B

From the list of: plants below, classify. these plants so that they have flowers.
which are s:maar in structure to.that of flower A or B [1]

g MM

Sim"al' : feﬂm A
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31)a)i)W i)z

b)Cell Z has chloroplasts contains chlorophyll which absorb light needed for
photosynthesis to be carried out.

c)Cell X. Cell X has a nucleus and does not have a cell wall like an animal cell.

32)a)The milk thus loses heat to the ice and salt quickly and changed into ice-cream.
b)Steel is a good conductor of heat allowing the flavoured milk mixture to lose
heat more quickly unlike plastic which is a poor conductor of heat.

33)A: Contains polien grains and will open up when the pollen grains in ready to be
carried away by the insect or wind. '

B: Produces a substance which makes the pollen grain which lands of it grow a
pollen tube down to the ovary.

34)a) l : O IR

Il N

WL L7 7\ (777

o

b)The limewater tums chalky faster when the hamster is exercising.

page 1 to 2 page 1



35)The leaves Q are still able to make its own food as the water-carrying tubes are
able transport water from the root to the leaves at Q.

36)a)A: stomach B: small intestine

b)Large Intestine.
37)a)A: Lizard  B: mosquito C: man D: zebra
b)Platypus.

38)The Styrofbam cup keeps the drink hotter than the metal cup.

39)a)Evaporation and Condensesation.

b)Water from the water bodies evaporate into water vapour. The hot water
vapour rises upwards comes into contact with the cooler air above, loses heat and
condenses into water droplets. They gather to from clouds.

40)a)It was to find out if plants absorb water.
b)It is to prevent water from evaporating because any water loss is solely due to
the plant taking in water.

41)a)F b)_F OT  d)F

42)a)Handkerchief A.

b)A had the smallest exposed surface area than the rest of the handkerchiefs.
Therefore it took the longest time to dry as the large the exposed surface area the
faster the rate of evaporation.

43)a)i)water i)wind
b)"Fibrous husk” , “waterproof covering”,fruit is light.

44)Flower A: kiwi , Cilli
Flower B: Mango, Lychee
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